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import os, warnings

# 30 AKX S2AlotHU =2 M (ignore), CHAIE0IH (default)
# warnings.filterwarnings(action="default")
warnings.filterwarnings(action="ignore')

In [2]:

# st=

import matplotlib

from matplotlib import font_manager, rc
font_loc = "C:/Windows/Fonts/malgunbd.ttf"

font_name = font_manager .FontProperties(fname=font_loc).get_name()
matplotlib.rc('font', family=font_name)

matplotlib.rcParams['axes.unicode_minus'] = False
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In [3]:

import numpy as np
import matplotlib.pyplot as plt



In [10]:

rnd = np.random.RandomState(0)
X_org = rnd.normal(size=(1000,3)) # AASELE == 229 & 1000,3 2=

# np.random.normal() # AR=
# np.random.uniform() # =#S
print(X_org.shape)

w = rnd.normal (size=3)
print(w.shape)

(1000, 3)
(3,)



In [11]:

# Lot 22X E 2= 8t
X = rnd.poisson(10 =*
y = np.dot(X_org, w)

print("X, w : ", X.shape, w.shape)
print("y @ ", y.shape)
print(X[:, 0])
X, w: (1000, 3) (3,)
y . (1000,)
[ 56 81 25 20 27 18 12 21109 7 15 1 27 4 1 7 2 11
6 8 1+ 2 2 7 31 7 7 28 3 9 8 21 7 20 3 71
69 27 9 7 12 43 9 18 4 21 16 12120 33 9 6 30 7
25 27 40 15 2 5 7 3 5 42 10 7 8 5 19 4 24 8
11T 2 9 2 7 1 0 4 8 32 2 11 16 2 5 1 8
3 199 3 68 2 21 20 12 10 6 5 7 1 3 1 9 10 3
4112 26 3 3 4 7 11 18 2 4 3 11 13 10 2 28 10
8 14 14 3 23 3 24 28 18 17 13 27 56 10 23 11 24 5
34 13 28 0 32 5 1 12 6 14 8 84 1 5 45 1 22 9
47 14 29 9 2 9 10 1 25 2 17 60 O 6 O 12 0 10
11 51 3 3 22 36 2 14 4 19 16 24 8 27 2 5 6 17
11 6 1 9 15 5 25 15 21 8 8 53 6 4 4 38 28 5
6 1 12 4 5 17 5 21 3 16 53 34 9 1 15 2 8 29
1 8 36 26 43 5 8 13 1 14 4 1 6 5 3 19 14 59
18 5 26 2 55 5 6 11 43 2 17 7 6 7 7 27 31 14
6 4 4 13 3 12 4 21 11 4 19 93 13 7 4 4 3 12
18 8 28 2 7 1 10 3 17 16 2 2 2 20 4 34 29 21
539 9 3 52 5 2 6 18 14 15 15 15 6 7 31 7 18
7 7 12 11 521 183 10 11 6 5 18 15 46 2 0 24 2
3 6 3 28 14 6 43 3 2 34 2 3 12 15 19 2 16 5
5 1 3 9 83 6 23 4 3 2 8 3 3 183 4 20 9 5
7 10 0 2 6 6 17 44 5 45 27 7 15 7 21 18 6 13
28 24 36 7 8 16 24 20 7 10 1 9 2 8 30 58 27 2
18 16 8 19 4 27 11 69 2 75 45 16 2 10 2 3 14 2
3 1 10 0 16 3 2 5 9 9 47 17 14 4 3 6 17 8
58 7 5 10 8 12 18 8 20 35 45 4 27 16 4 31 17
520 15 2 69 4 26 &7 6 1 5 4 12 16 0 19 11 5
1 22 12 28 28 5 5 13 4 10140 2 O 6 4 7 10 2
3 12 9 9 9 45 4 11 6 4 24 22 9 12 9 14 63 23
5 3 0 18 3 24 4125 2 27 6 5 5 17 11102 8 48
2 52 7 41 16 7 7 45 11 12 22 22 47 1 120 9 29
18 7 9 8 10 7 94 20 8 10 2 4 31 9 13 21 47 11
19 55 10 2 4 0O O 6 20 11 3 9 12 11 12 17 24 11
2 14 11 19 5 14 19 48 5 17 383 2 3 18 6 12 5 7
7 1 2 9 16 8 12 12 5 4 14 6 4 6 27 4 5 37
0 18 59 25 5 15 7 0 3 2 51 16 10 29 8 43 25 23
12108 3 5 12 54 15 0 10 5 8 9 4 5 16 15 45 16
4 1 7 11 19 14 16 15 7 6 13 13 54 50 0 3 3 26
2 11 13 18 0 42 38 12 9 27 3 1 64 8 33 1 10 11
5 1 14 4 6 20 2 14 0 3 19 8 3 0 16 10 12 4
2 29 7 13 16 28 4 6 7 2 10 1 9 25 33 13 6 46
6 7 4 5 23 2 2 20 6 19 1 15 24 22 10 21 2 24
7 9 22 47 4 2 5 11 13 15 4 9 19 7 16 8 10 7
0 20 14 12 13 1 15 26 34 13 25 21 18 2 6 7 41 6
551 5 4 9 7 2 20 12 30 5 23 21 73 21 8 7 19
2 17 4 16 20 7 15 50 5 4 4 0 4 11 2 12 19 49
2 6 4 38 23 063 2 1 4 9 22 13 15 24 19 2 17
13 8 8 31 0 10 18 21 36 8 2 16 5 16 5 29 0 63
20 9 5 3 5 18 2 32 11 12 4 9 76 2 20 4 24 11
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In [14]:
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plt.xlim(0, 160)
plt.ylim(0, 70)
bins = np.bincount(X[:, 0])
plt.bar(range(len(bins)), bins, color="'grey")
plt.ylabel ("&S& 3")
plt.xlabel ("2t")
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In [15]:

plt.figure(figsize=(12, 10))

plt.subplot(2,1,1)

bins = np.bincount (X[:, 0])
plt.bar(range(len(bins)), bins, color="grey")
plt.ylabel ("&S& = =")

plt.xlabel ("2t")

plt.subplot(2,1,2)

bins = np.bincount (X[:, 1])
plt.bar(range(len(bins)), bins, color="grey")
plt.ylabel ("&8 5 4")

plt.xlabel ("2t")

Out[15]:
Text(0.5, 0, 'at")
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In [17]:

from sklearn.linear_model import Ridge
from sklearn.model_selection import train_test_split

In [18]:

X.shape, y.shape

Out[18]:
((1000, 3), (1000,))

In [20]:

X_train, X_test, y_train, y_test = train_test_split(X, y, random_state=0)
print(X_train.shape, X_test.shape, y_train.shape, y_test.shape)

score = Ridge().fit(X_train, y_train).score(X_test, y_test)
print("HIAE &= ¢ {:.3f}".format(score))

(750, 3) (250, 3) (750,) (250, )
HAE B= : 0.622
In [21]:

X_train_log = np.log(X_train + 1)
X_test_log = np.log(X_test + 1)



In [25]:

plt.figure(figsize=(12, 10))

plt.subplot(2,2,1)

bins = np.bincount (X[:, 0])
plt.bar(range(len(bins)), bins, color="grey")
plt.ylabel ("&S& ")

plt.xlabel ("2¢")

plt.subplot(2,2,2)

plt.hist( X_train_log[:, 0], bins=25, color="'orange")
plt.ylabel ("&& ===")

plt.xlabel ("8t (log=&)")

Out[25]:
Text(0.5, 0, '2t(log=E&)")
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In [26]:

score = Ridge().fit(X_train_log, y_train).score(X_test_log, y_test)
print("HAE &= {:.3f}". format(score))

HAE B= :0.875
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